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SECTION-A
i) General Awareness

Brahmo Samaj was founded by
(A) Raja Ram Mohan Roy

(B) David Hare

(C) Dayananda Saraswathi
(D) Dadabhai Naoroji

The Union Government is in the process
of constituting a new Education
Commission under the chairmanship of
Prof. Andre Betille to draft the third
National Education Policy. When was
the first Education Policy introduced
under the Indira Gandhi Government 7
(A) 1978
(B) 1986
(C) 1968
(D) 1980

Dada Saheb Phalke Award is given for
outstanding contribution in the field of
(A) Cinema

(B) Literature

(C) Music

(D) Medicine

Where was 161 NAM Summit held ?
(A) Tehran

(B) Kolkatta

(C) Bagdad

(D) Cairo

The leading producer of silver is
(A) USA

(B) USSR

(C) Mexico

(D) South Africa

& Under which Article of the Indian

0 00 0

Constitution, each Constituent State of
the Union should have a Public Service
Commission 7

(A) Aricle 315
(C) Article 305

(B) Article 215
(D) Article 205

Which is the richest temple in India ?

(A) Shirdi Sai Baba temple

(B) Balaji Temple of Tirupathi

(C) Padmanabha Swamy temple of
Thiruvananthapuram

(D) Jagannatha temple of Puri

Which of the following is a block
mountain 7

(A) Alps (B) Vosges
(C) Rocky (D) Andes

Who clinched the Bronze Medal in the
51kg Fly category in Londen Olympics
2012 in boxing ?

(A) Gagan Narang

(B) Vijay Kumar

(C) M.C.Mary Kom

(D) Saina Mehwal

What is the name of the Farmer IAF
Chief who is examined _by CBIl in
connection with the alleged bribes paid
by Htalian firm to clinch the Rs. 3,600
crore contract for supply of 12 VVIP
helicopters to India ?
(A) S.P.Tyagi
(B) V.K. Tyagi
(C) B. P.Tyagi
(D) V. P.Tyagi
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11. CAG has made serious observationson | 168. The period of which Five Year Plan is

W

B Ry
R
(4

é: 3:.3; the gms‘s misuse of th‘g agricultural 2012-2017 7
gﬂ = debt waiver and drs:-bt relief schemes. (A) Twelfth
*E: e Expansion of CAG is (B) Eleventh
e (A) Controller and Auditor General (C) Thinsenth
(B) Controler and Auditer General (D) Tenth
(C) Comptroller and Auditor General
(D) Comtroller and Auditor General 17. No money bill can be introduced in the
legislative assembly without the
12. Which of the following introduced a recommendations of the
measure of provincial autonomy ? (A) Speaker
(A) Minto-Morley reforms (B) Govemnor
(B) Montague-Chelmsford reforms (C) Chief Minister

18. Articles 149 and 150 of the Indian

13. Expand ISRO. Constitution deal with

(A) indiary _Scienme Fesearch (A) Powers and functions of the
> Ofg.;:nlsatinn Governor of a state
) !ndlar:l. : space . Research (B) Powers and functions of the
Sy President of India
2 (C) Indian Scientific Research i©) Compirelisr and Audhior General
. SR (D) Election Commission
(D) Image Sensing Research :
Organisaan 19. In the Constitution of India, the word
14. God Particle spotted on 4-7-2012 is also Federal’ is used in
i called ¥ (A) The Preamble
: (A) Higgs boson (B) Partlll
(B) Higgs bosom (C) Article 368
(C) Higgs basan (D) No where
i i i 20. Who is the Head of The Economic
15. Quit India Movement was launched in Advisory Council to the Prime Minister
response to at present ?
(A) Cabinet Mission Plan (A) Dr. C. Rangarajan
(B) Cripps Proposals (B) Sri Subba Rao
(C) Simon Commission Report (C) P.Chidambaram
(D) Wavell Plan (D) Montek Ahluwalia
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CAG = &Y o1 grhi 31 /o1 &t T=d
SIS o5 Tehet gEOENT WX it Fevafori
%18 | CAG &l far w9 2
(A) Controller and Auditor General
(B) Controler and Auditer General

(C)

- (D) Comtroller and Auditor General

12,

13.

14.

13.

Ax

== 4 8 ShI9HET T IS Srdr F 39
T U= aar @ ?
(A) Tl - Al gur
B) [ - SHGE YU
) o fawm
(D) YR SRR Aterfam, 1935

ISRO 1 TR
(A) Indian Science Research
Organisation '
Indian Space Research
- Organisation
Indian Scientific Research
Organisation

Image Sensing Research
Organisation

4-7-2012 &l 2@ 7T M Urfésheq o
o} ShET ST R | "

A) T «aE
B) f@@aam
C) Rwmsam
(D) TRfFE =g

wﬁuﬁ%m%%qw@@m
3TR3=[§33IT
B ACErACNERISEH
(B) v =T T
(C) W iy i faqre
(D) dEAISHT

Comptroller and Auditor General _

16.

17.
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(B) TR
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22.

23.

24,

25.

28.

a7,

0000 00 0000

i) General Intelligence and Reasoning Ability

How many 9's are there in the following

sequence which are preceded by 8, but
not immediately followed by 3 ?

693769683964694766
69369769296

(A) 2 (B) 3

(C) 4 @) 5

Three of the following four are alike in a
certain way and so form a group. Which
is the one that does not belong to the
group ?

(A) 9 (B) 10

(C) 16 (D) 25

Three of the following four are alike ina
certain way and so form a group. Which
is the one that does not belong to the
group 7

(A) Tower (B)
(C) Leaf (D)

If + means %', ~'means ' ', ‘¥ means —

Seed
Flower

and '+ ' means + . then9+8 - 5“#*9:?'

(A) 26 (B) 17
(C) ®5 (D) 11

Good is related to Bad, in the same way
as Rich is related to
(B) Wall

(A) Floor
(C) Poor (D) Terrace

Ovalis related to circle in the same way

as rectangle is related to
(A) Triangle (BY Square
(C) Diagonal (D) Pentagon

In a certain code language PARENTS
is written as RCTGPVU. How is
CHILDREN written in that code ?

(A) EJKNFHTP

(B) EJKNFTPG

(C) EJKNFTHG

(D) EJKNFTGP

—

28.

Vipin is taller than Ramial who is shorter
than Ahmed. Mohinder is taller than
Sheikh but shorter than Ramial. Ahmed
is shorter than Vipin. Who is the
shortest 7
(A) Vipin
(C) Sheikh

(B) Ahmed
(D) Ramial

Direction (29-32) : In each question below
are given two statements followed by
conclusions | and Il. Consider the two
conclusions tegether and then decide which
of the given conclusions legically follows
from the two given statements disregarding
commonly known facts. Give answer

(A)
(B)
(C)
(D)

29,

30.

31.

if only conclusion | follows
if only conclusion 1l follows
if either | or |l follows

if neither | nor 1l follows

Statements : All pencils are pens. No
pen is a book.

Conclusions :
I) No pencil is a book.
I} Some pens are pencils.

Statements ;: Some rats are rabbits. All
rats are mosquitoes.

Conclusions :
I) Some mosquitoes are rabbits.
i) No rabbit is a mosquito.

Statements : All fans are cups. All cups
are pillows.

Conclusions :

I) All fans are pillows.

Ity All pillows are fans.

_M
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ii) WTHT FhgwwT AT Arfee g

21. Fewwd e o2 sied weei ¥, w3 8 ﬁﬁqmﬁm’gaﬂzmm

%eﬁg{g???%ﬁ?sasats-m?aa b aw%@ﬁw%
69360769296 m%? ﬁﬁqﬂwalm
(A) 2 (B) 8
) 4 (D) 5 Eg; i?_q_
22, ﬁﬁ%‘ﬁﬁﬁ?ﬂﬁﬂﬂ?@ﬁ%ﬁdﬂ%ﬁ {c-} g
ﬁﬂ@ﬁﬁaﬁa?ﬁ%?
(B) 10 e frdw (20-32) : v W 5 9 S
{C} 15 (B) 25 % =g v | afw || o w2 | v wry A

23 ﬂnﬁlﬁgamﬁﬁ?ﬂ?%ﬁﬁ%ﬁaﬂ#ﬁ Tt o o ot ofi i o 8 3 R e

gjm U GHE S 8 I G | e, areee: S et @ srra e et
qaam;aﬂwﬁ:ra%"f%? U 1 HTioke ©Y F ATH WA R | I
[fg}} qu {{g}} Gk (A) et Fred | smEo w2
& B) aer freed || orgeror wan 2
24, ?Iﬁ+$f3¥9fx'§ g i B Tl B Fresee |77 1} s e 2
RS s O aﬂa:fff+%,r-ﬁ
948+ B-4x9=2 (D) =2 Tk | 37w 7 & frerd || s
(A) 26 B) 17 CEGIE
C) 65 D) 1 5
o iz 29, et : w341 21 e B P
25, ﬁ’mmaﬂﬁaﬂ{%wm%m TR
mw CiCH e
(A) (B) : . _
() il (D) @@ ) ﬁgﬁ@?ﬁm?ﬁ%l
26. Wﬁﬁwﬁg%ﬁgﬁm S " |§ -
Hefye 2 | 30. =9 : 2 T & | oef R e E
(A) m ®) o /T ﬁw@%"g %
i Chs Lo el qﬁ: l) FT TE T |
27. U W HIE 9§ PARENTS 14 oft @t '
RCTGPVU forar sian 2 | 3¢t e & i sl il
CHILDREN %1 3# e smom 7 31, wud :ufi v w9 E | wfisuafecd |
(A) EJKNFHTP fred
(B) EJKNFTPG TN
(C) EJKNFTHG ) W eE
(D) EJKNFTGP ) wsfafreded)
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32. Statements : Roma is brilliant. Roma is
a woman.
Conclusions :

) Women are brilliant.

Il) Roma is brilliant because she is a
womarn.

33. Choose the one which does not belong

to the group of the other three
(A) Trouble

(B) Mend

(C) Repair

(D) Rectify

Directions : (34 to 36) :

In each question below are given two
statements followed by two conclusions
numbered | and Il. Take the two statements
to be true even if they seem to be at variance
from commonly known facts and then decide
which of the given conclusions logically
follows from the two given statements
disregarding commonly known facts. Give
answer

(A) if only conclusion | follows

(B) if only conclusion Il follows

(C) if both | and Il follows

(D} if neither | nor Il follows

34. Statements : All pencils are bricks. All
bricks are bottles.

Conclusions :
I) Some bricks are pencils.
i) Some bottles are bricks.

35. Statements : All pencils are bricks. All
bricks are botties.

Conclusions :
1} All pencils are bottles.
1) All bricks are pencils.

36. Statements : Some trees are horses.

Biscuit is a tree,

Conclusions :

l) All biscuits are not horses.
Il) Some horses are trees.

37. If ‘2" means '+, ‘-’ means ‘:’, ‘%'
means -’ and '+ means 'x', then
2:8-4x12+4=7
(A) 12
(B) —44
(C) 40

(D) None of these

Directions : (38 to 40) :

Study the following information carefully and
answer the given questions.

A,B,C, D, E, F, G and H are sitting around
a circular table facing the centre.

a) B sits third to the right of F.

b) A sits second fo the right of D, Dis not
an immediate neighbour of B and F.

¢) C and E are immediate neighbours of
each other.

d) Hisnotanimmediate neighbour of A.
e) Noone sits between C and F.

38. Who sits to the immediate leftof B 7

(A) H (B) G
€ A (D) E
39. Who amongst the following sits between
GandF?
(A) A B) C
(C) E (D) H

40. Whatis the position of D with respect to
E in the above arrangement ?
(A) Fourth to the left
(B} Third to the right
(C) Second to the right
(D) Fourth to the right
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l) wieem gienmER12 |

) T gfemm 2, #=ifF 9
Afese |

T = |

(A) TITH AT

(B) ot &l

(C) WEHTd AT

(D) HawA
faom v (34 9 36) : v W F A A
FuA1 % =78 freed | T R e | 2w
Fr e T o et & e @ o e oiv
o w7 =6 o6 o e 0 o,
e oAl & SreTsia 21 HYAT F s w3
TG A 8 | IWA
(A) Haer Frerd | st e 8
(B) =Fae e || SR A1 8
(C) Tsard | 37111 S SrgERT A &
(D) & Freed | afi = & s || sxgE

FAT &

34, Fu e RIS R i f e
e
) FoeURE]
) Fo e $2 |
35. o el e €8 | et f dme €
Fred: o
) ot SR e |
Iy stz
A=
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36 FYT:FSUSHBEN T | ez T2 R

) wdft i s e
) F5 918 ¥ e &

37. R owmad vy, cwmad R W
Fad “ Ry wad KR, @
2 8-4x12+4=" - 2
(A) 12
(B) —44
(C) 40
(D) ¥ A HE T il
favm Frdvr (389 40) : Fiferfies s #1 1
T § g 37 fa T e & I |
A,B,C,D,E,F,G3 HEx il IR {g
FETHR el & IR ARS8 | *
a) B, F % ot 3R il e W s R | 3
b) A, D =Rfl AR gH T WA 2 | [
' g,amF%mﬂ@aﬁmﬁm
|
c) C 3R ETH gt % Fepean TS 2 |
d) H, A Feean veri A8 2 |
g) CRFFfusiTdidard)

38. B di% 9 AN FH aB12 7
(A) H
B G
) A
(D) E

39. FeddamG R FRdfaisdert?
(A) A o
€ E (D) H

40. IFEE eI f g FEF T A D
FWEFRL !
(A) =i SFRH e T
(B) =rft 3R | frern T
(C) =ft iR & gEUTH
(D) =i AT e H
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41.

42,

43.

45.

iii) Arithmetical and Numerical Ability

How many cubic metres of earth must
be poured to close a pit 35 metres deep
and 4 meires in diameter 7

(A) 880m3 (B) 800m°

(C) 440m° (D) 660 m®

A merchant marks his ware 40% more
than the cost price and allows 20%
discount. What is his profit ?

(A) 20%

(B) 12%

(C) 18%

(D) 14%

If 25% of the number of teachers in
University-C is female, who are 50 in
number what is the number of male
teachers in University-C 7

(A) 150 -

(B) 160

(C) 170

(D) 180

The dimensions of the rectangular
garden are 50 m x 40 m. A path of
1m width surrounds the garden. What
is the cost of levelling the path at
7 20 perm2?

(A) ¥ 3,680 (B)
(C) ¥ 2,500 (D)

¥ 2,000
7 3.860

P:iQ=5:3R:Q=574, P:Q:R="
(A) 5:3:4

By 3:4.5

(C) 20:12:15

(D) ¥H20:12

A2

(¥

46.

47.

49,

50.

A sum amounts to ¥ 5,700 in 2 years
and ¥ 6,050 in 3 years. Find the
principal and the rate of interest.

(A) T 5,000, 7%

(B) ¥ 5,300, 5%

(C) ¥ 4,800,8% :

(D) T 4,500, 10%

Six eleventh of a certain number

exceeds its five twelfth by 17. Find the
number. ..

(A) 231 (B) 312
(C) 123 (D) 132
A man cycles west 3 km, then goes North

4 km. How far is he from the starting
point ?

(A) 5km (B) 6km
(C) 4% km (D) 7km
grt-8*
o7-3
(A) 200 (B) 94
(C) 100 (D) 110

What will be the income tax payable by
a person getting a taxable income of
T 30,000 during the year, if the first
18,000 is not taxable and the tax rates
are 25% upto an income of T 25,000
and 30% above T 25,000 7

(A) ¥ 3,500 (B) ¥ 3,250
(C) ¥ 3,000 (D) ¥ 3,750
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iii) areRTTUTA T vE HEaETeTE araar

85 Hiet TEL SN 4 Hi = FTed TS FH
=2 F & o gt F B o e
TR ?
(A) 8803
(C) 440T2

(B) 8003
(D) 6603

sh =T ST forsr e 1 e e 8
40% 27ToeR AfeRa T & 371 39 T 20%
HI B A2 | SEFT AT FE 7

(A) 20%

(B) 12%

(C) 18%

(D) 14%

C Toremdia # fveei & & 7fy 25% e
Aigerl $1 8 S FA 5028, a1 C Farfiz *
5y fRrerel 1w ?

(A} 150

(B) 160

(C) 170

(D) 180

ATEATER J5H o SR 507, x 4070, 3 |
35 % = A 1. e uEn? | 2 20

it =12 o8 T = A e fan i e
FTEA 7 '

(A) ¥ 3,680 (B) 72,000
(C) 2,500 (D) % 3,860

P:Q=5:83R:Q=5:4,P:Q:R="7
(A) 5:3:4

(B) 3:4:5

(C) 20:12:15

(D) 15:20:12

46. 2 381 # Het UR T 5700 M3 =&
% 68,0502 | ETHA IR =™ E JA A |
(A) % 5,000,7%
(B) % 5,300, 5%
(C) T 4,800,8%
(D) T 4,500, 10% ’

47. mﬁﬁmm%m%ﬁ

17 37ferer & | HEa 31 &L
(A) 231 (B) 312
(©) 123 (D) 132

48. uF weHi ufvem # 3 f o, o anfe
Serr 8, fo sm 6t w4 FRfl. s
2 |98 9 FreeTrh g @ freft g2 7

A) 5, B) 6fF,
© 4sfd @ 7R
972 -3

49. 555 7
(A) 200 (B) 94
(C) 100 (D) 110

50. AR 98 T 18,000 F A1g & 2 3
725,000 e 6l 3TF WH hI §L25% &
3 ¥ 25,000 B IR H T 30% B, A
a % WH 230,000 H H AT A W

us =i F e e e g dm ?
(A) T 3,500 (B) % 3,250
(C) ¥ 8,000 (D) 3,750

R T T Y
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o1.

52.

53.

85.

Ax*

7
f

John travels from P to Q at a speed of

5 km/h and returns to P at a speed of
4 km/h. If the distance between P and Q

is 20 km, what is his average speed ?
(A) 4.5kmh
(B) 5.5km/h

2

(C) 45 km/h

41 km/h

() 43

16% of 7 =88
(A) 5,500
(B) 550

(C) 176

(D) 1,760

Jﬁxmm
7 ?
(A) 15

(B) 150

(C) 56

(D) 12

=4

1 1
How many E’s are there in 3?5 ?

(A) 400
(B) 450
(C) 300
(D) 350
10 workers take 15 days to complete a
work if they work 8 hours/day, How

many days are needed to complete
the same work if 15 workers work

5 hours/day ?
(A) 13 (B) 14
(€) 15 (D) 16

56.

a7,

58.

59.

60.

0 0 0 00 T O

Face value of a share is ¥ 25. It is sold
at a premium of ¥ 5. How many shares
can be bought by investing ¥ 30,000 ?
(A) 3,000

(B) 300

(Cy 100

(D) 1,000

in a class 30 students speak Hindi. 35
students speak English. 10 students
speak both Hindi and English. If the
students of this class speak only these
two languages, how many mudents are
there in the class ? <
(A) 55

(B) 75

(C) 45

(D) 65

The ratio of the radii of two circles is
3: 5. What is the ratio of their areas ?
(A) 9:25

(B) 6:10

(C) 9:15

(D) 25:12

If simple interest and compound interest
for 2 years are ¥ 500 and ¥ 545, what
is the rate of interest ?

(A) 15%

(B) 10%

(C) 18%

(D) 11%

The sum of the present-ages of a son
and a father is 60 years. Six years ago,
the father's age was twice his son's
present age. What is the present age of
the father 7

(A) 40 years

(B) 42 years

(C) 45vyears

(D) 48 years




51. S P B8Q w5 e fmhiafa

FTH AT R 3R 4 ey, [y i @ P
aF AT e 12k p sl F dEdigl
20 f. . 2, 91 ot sma R R 7

(A) 4.5 R o=
(B) 5.5 f&.dt. /g
(©) 4%;1%.1‘:&.;&3{
@) 4% Fd. /o

. 16%of 7=88
(C) 176

Ji%6  oo0 _,
_ =

=
(A) 15
(C) 56

R

(A) 400 _{B} 450

(C) 300 (D) 350

. gfe 1o aeg 8 He /e wm A A 9w
% w1 15 i g € |9l 15w
5 @ /Pram e, A3 T wm R
&1 9 R 7

(A) 13
(C) 15

(B) 14
(D) 186
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56. UHTPR ISR T 258 | IS F

Hifiram W & s @1 T 30,000 FEw
i e e e 8 7

(A) 3,000 (B) 300

(C) 100 (D) 1,000

. e ¥ 30 o & dem €1 35w

s e S | 10w R sl st St
e § | af2 58 Fa F 9 Had Fd A
AT Flerd 2, T el H e e o e 7
(A) 55 (B) 75
(C) 45 (D) 65

. Br gt BTl w1 A9 3: 58 |35

Sl 31 ST 4T B 7
(A) 9:25 (B) 6:10
(Cy 9:15 (D) 25:12

. aﬁizaﬁ‘%%%ﬁm‘ﬁ ﬁgaﬁ%

1 T 50037% T 545 %, Aream SR 7
(A) 15% -
(B) 10%

(C) 18%
(D) 11%

60. 3 ¥R e i adww 21 =¥ 9m 60 A4

2| 7% um Ted, fia A wmg wE W
£t 318 ¥ <o off | foer o adam sy
FR?

(A) 40ad
(C) 4a5ad

(B) 424
(D) 4=

& ..l'

A




JDD-40/TGT-HINDI/X-14 0O 0 0 O

iv) Test of Language : Hindi

wTST udteror ;
A1 3 R 3. 616 W, 63 el FI HAAF T | o ST T T TR o 3
fafay | (A) ST
61. IHR (B) T ET
(A) 3 (8) (C) =wH ’
(C) &I (D) g9 (D) Seit& e
A 62. HEW 69. STEE YIS 1 A0EH e
: (A) Hifwem (B) FoR (A) T e
(€) T (D) e @) st ;
- (c) w=f=s
(A) = B) P (UF S
: (€) R (0o 70. TR ¥7sE W g &Y
64. TR o S B 8 | (A) =
X (A) = (B) wmER
(B) o (C) =mEsme
(C) =W (D) v
~ (D)
| 71. AT VISR HT Ae0 WSS
! 65. fe=iauid YFH R | (A) =g
o (A) HT (B) & (B) ST
q (C) =m (D) (C) =
: . (D) =&
66. TEIISE HI IESTEF 3T T A
(A) gl (B) ¥R 72, HTETH! 9752 T WATTHF W EY
(C) gl (D) F&9 (A) T
67. T ¥ee 1 &eng w9 &) Seny
(a) R B8) e p
©) = (D) sl R

Ax 16
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Ax

73. sEYsSFIGmEIE_ |
(A) =T
(B) ==H
(C) ==

(D) wifH

74. IR 3188 1 fasiem w
(A) g
(B) wimitferss
(©€) e
(D) s

75. ‘o Emrowe e e w a8
(A) it T R
(B) < H arfers e
(C) 3T T FT
(D) GRETHAT

o TR O o | e 3 i e e e
B & | e QO SR - R e
Fah ot 3% ol =1 e e W 7 e O

et
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27 o T AT o R daeh el O IuE

=13y 3 91 | 9 wed s o |

76, WAFFTARER @ A AR Y 7
(A) T o THamet
(B) TSl
(C) =
(D) ! S TgET

77. ZEhIEF A7
(A) 5 F =TT
(B) & #fIyeft
(C) Tt
©) FgH T

78. W <o ¥ fore gt 3w o o 7
(B) ®1d
(C) B
(D) ==

79. ARARY 7
(A) Fg* W
®) what
©) FafiFHuR
(D) TSR

80. WA ERIF T ETA AT ? .
(A) SURAFI A T
(B) FgEF I FA
(C) el 3 ol ot Y
(D) SATES T o T HH
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Directions : In the following questions from
81 to 84, sentences are given with blanks to
be filled in with an appropriate word. Four
alternatives are suggested for each guestion.
Choose the correct alternative.

81.

82.

83.

84.

86.

A%

v) Test of Language : English
qTYT Uteqor ; ST

An exhibition the new
trends in lighting was held in the capital
in Jan. 2013,

(A) for (B) on
(C) of (D) into

Many areas of the city were
into darkness for several hours.

(A) spread (B) deep

(C) plunged (D) merged

In our zeal for progress we should not
the executive with more

powers.

(A) avoid (B) give

(C) enhance (D) arm

No doubt he has achieved much, but |

cannot give him credit for all that he
boasts

(A) of
(C} to

(B) for
(D) with

The word which is opposite in meaning
to the word ‘gather is
(A) amass (B) distribute
(C) congregate (D) collect

The word which is opposite in meaning
to the word ‘glorify’ is
(A) praise

(C) debase

(B) adore
(D) enthrone

-18

87.

88.

89.

90.

8.

92.

93.

The word which is most nearly the same
to the word 'contagious’ is

(A) contaminate

(B) infectious

(C) interesting i

(D) consumable

The word which is most nearly the same
to the word “unique” is
(A) frequent (B) ordinary
(C) common (D) distinctiver

Yesterday Rajni school
early to receive her parents at the railway
station.

(A) went (B) departed

(C) left (D) absented
Gowri's heart at the
sight of the beautiful jewellery.

(A) leapt (B) stopped

(C) slowed (D) crept

The CRPF men swung into action and

cordoned the area.
(A) out (B} of
(C) off (D) over

Vinay had incurred such heavy debts.
that nothing short of a
could save him from bankruptey.
(A) miracle (B) windfall
(C) loan (D) lottery

In his address to the teachers, the
Vice-Chancellor
measures being taken for improving the
quality of college education.

(A) deleted (B) adviced
(C) demanded (D) suggested
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Directions : In questions 94 and 95, groups. g‘;‘:t{;ﬂg &a;gzﬁﬁ'ﬁfa Igﬁéeiirfggf?;’;g
of four words are given. Ineach group, oneword | down again and gave themselves up. They had
is mis-spelt. Find the mis-spett word. wanted to get that feeling of freedom that one
has, after climbing a difficult mountain.
Stenit) iy 96. Some men like to climb mountain
(B) extend because :
(€7 ol (A) g:?::\;q g;} not like to play football or
: AT Ccess I
(D) exorbitant (B) they knew the trick of climbing
(C) }2.? want to have a wonderful
aE : ling
95. (A : S St
EB; gwamnea (D) they like to face danger
B) menace
_ 97. To climb mountains is often difficult
(C) tendancy because
(D) penance (A) mountains are big hills
| (B) it consumes more time
Directions : Read the passage carefully and () g&:ﬁg;‘g;& :éftttela;tﬁeefgape from
choose the best answer to each of the (D) paths are steep and uneven
questions from 96 to 100 out of the four| ; ,
alematives given 98. "Itis a wonderful feeling....” ‘It refers to
Just as some men like to play football or cricket, Eg; ﬁz E‘fﬁ:&gf‘h
SG_MZNBH like to climb mountains. This is {G} The mountain
often very difficult to do, for mountains are not (D) Mountaineering
just big-hills, Paths are usually very steep. 99. Two ltalian prisoners escaped from the
Some mountain sides are straight up and down, camp and climbed to the top of Mount
so that it may take many hours to climb as little :ﬁﬂyﬁd Sesp i
as one hundred feel. There is always the (B) to mmiawn and give up
danger that you may fall off and be killed or (C) togetthe feeling of freedom
injured. Men talk about conquering a mountain. (D) to gain fame as mountaineers
It is a wonderful feeling to reach the top of a | 100. Mountaineering is not a very popular
mountain after climbing for hours and may be, ?gf”gﬂ football or Cfmt‘mt ha;:t':ause
& ere are no spectators in this sport
aven fcaf dgys. You look down and see the (B) it may take many hours or even
whole country below you. You feel god-like. days
Two ltalian prisoners of war escaped from a () ﬁﬁg; Ea};v! peopie are prepared to
prison camp in Kenya during the war, They did (D) people Z;ﬁ want to enjoy a
not try to get back to their own country, for they god-like feeling
A* -19-
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101,

102.

103.

104.

Ax

SECTION-B

-
Post Specific Subject-Related Questions
R TR faw - ot uv

ot wifeey Tndier g g 4 ST arE
wETeE YT # |

(A) Frdis

(B) Wl

(C) wrfea =

(D) wgH feagem

T g TEE S FE A ?
(A) TR
(B) S
(©) ferrsit
(D) 3=

I aeEl T fad FeaE AW R |
(A) ST TETE

(8) ¥

(C) =g fEad

(D) FuReefEd

forw TaTeRR i ferdl wfee &1 ang #E
TR 7

(A) wETeET AR

(B) Frmm ymoor e

(C) wHEETe agaal

(D) BfEf v TR

105.

106.

107.

‘T F AR - I8 T e

Fhie?

(A) ST
(B) w2
(C) el AT
(D) i

‘ST g FEl | R Bl 8 7
(A) @

(B) feeeh

(©) frsrige

(D) =¥
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108, W, SETRTETE YeE fow 2R T & HETE | 112, ‘Tt Faht F FEr = EEF 2|
| o e et o e 4 7 (A) STEF ¥E
(A) TS RS ®) ImagE
(B) 3 R (C) e Hifard T
() Tegem s
(D) TEgH I
(D) 25 B
113, T AR = s i R an ¢

100. ez @ 1930 ¥ Fem ufiew F IR

et ? (A) 1963
(A) T (B) 1967
(B) aHF (C) 1949
(C) =& (D) 1945
(D) =R
114, ‘fFva hem $ gos - 3 fad
110, ‘memsmor s R iy F wem R =7
TR 7 (A) Hreen worEe T
(R S (B) e HIEA A Al
Al (C) . STt A8
(C) wETRE W
R - (D) SeaE U™
111, TR RE B T | 115, @l o1 ad wun s Fad R
(A) FATFE (A) Erenfig A Eisiy .
@) -l w ®) srhEs
(C) TETHI UIE I YA (C) @ T
(D) ©HE W USH T (D) T

A= 21-
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118.

117,

118.

119, °

A=

‘g el ferreh e @ 7
(A) TiEEATE TR

(B) =it s

(C) wmwfEen

(D) wfsHi g

‘Relt’ re % Ameafas gIuR BH & ?
(A) I & HHARH

(B) oy = & i

(C) Thegeai HHam & &M

(D) FETETEF GHARH

T S ST & Tl o 3R o
e Tavafaamem & - Ryrmas @ 7
(A) TN

(B) sHNE

(C) T

(D) feweht

120.

121.

122.

128.

| O 0 0 0

‘st 7% fee Rt R a2 7
(A) EEteET
(B) =faad et
(C) i few<l
(D) wfEpdt fe=i

a1 TS e Bl @ - 38 e
(A) FHER

(B) TH®

(C) a8 aFa1 e

(D) T oft € o 8

By ferfa sy oreferftr o wo of o vl
T T 7
(A) 1945
(B) 1949
(C) 1960
(D) 1950

-

‘ofeEE wATHE AR 7
(A) oftfafea stoam
(B) Eht

(C) WYFFS

(D) ==
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124. ‘Sgudt F =R E | 129. &=t & o e @ 7R g wrsal w1
(A) IR E Fed 21 \
(B) wwa=g Rz (A) TE
(C) TorTriee MR (B) =i
(D) <FER ¥Hi i ©) fsh
125. foremafe i (D) weam i_
(A) STl
(B) W 130. WA % ferg ‘sfvear wee forwss g fan
©) W s
| (D) AP (A) st g
é — @) i P gm
: 126. Toifd =1 od 9yum 3oomg el e 7 P -
‘ LR (D) St g
. (B) Fvr
1 el iy 131, el e v v e A B 7
| (D) wfecT gdw
| (A) et
127, el SRt Ry et < am
| ) R (B) wERd
B) T (C) svagw
(C) st (D) e
(D) et .'
S O —— 132. &= =1 od yum vy o 2 s |
(A) T ol iy
®) F1g (B) SemvHwivE
(C) =mge (C) el
(D) wfme (D) IEFH 9
Ax 23
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133, “‘m e T e w0 - qE di

134.

135.

136.

el 8 7

137.

138.

139.

140.

141.

SR § PR wE TR ¢
(A) HeREE

(B) ©HEH

(C) -TrwE™

(D) =W,

bt s g FTHE w9H 09 3|

(A) e @l

(B) TEIEd _
(C) wymewd! )
(D) TEEA T

7% BT ) T o B RS 7
(a) forgem

(B) HEW

(C) TFHIE

(D) ™

O e -4 o T B

(A) =™
(B) @ed

(A) Hadq 1581
(B) e, 1680
(C) €em 1685
(D) §ad 1448




#

|

142, FyEeW ®1 Hiaw wea &1 ¥ FHE
HTATEF A FET 7
(A) 3rrerd g wane faad
(B) 9. weTER yaTe A
(C) 3T Tz A
(D) @ A HEH

143. ‘ferliumgd ' § g Ser-ven e @ 7
(A) 700
(B) 750
(C) 710

(D) 726

7 A wad R g A e ?
(A) TR

(B) wifem el

(C) HHR

(D) FLEWEE

144,

i} & v T i R i
T

(A) T

(B) hEUITeTd

145.

(C) TR i Wefle
(D) wwEHt

146.

147.

148.

148.

150.
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Srorie % ol 39T FT AW R 7 |
(A) TEH |
(B) Ywmsm

(C) T
(D) Fasdem

T -gEA % S B
() s EfeER
(B) SEHIIRNE

(C) =T qFa T3
(D) waTd TREY Y

T @ T TS R B 2 7
(A) Frfsadl

(B) Tyl

(C) TRFZARE

(D) Ty e Rt

T A o aesfa wea € 7
(A) Trgmm o T
(B) Afereft ¥rwy T
(C) HREAATH Tgaal
(D) |WSTFARI=RA

‘ueF R ST T R g
A

(A) WTEAATH Sgae]

(B) W

(C) W& TRAY qigY

(D) s ooy oy
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it\"l- AN ‘!
T

152.

1583.

154,

A=

‘ 151.
1
[

2yt 1 FeemaT ¢
(A) TeEreet Tl

T B TRTETE % 359 T wR R
A) TdmwEEgs
(B) WUUHERS

(C) weanrgHTYsiamE
(D) TidtEHTESAT

o & Fe SR deu ges § wive
T2 7

155.

156.

157.

158.

0 O 0 O 0

12 T 3 e
(A) saHH

(B) WrEATHT

(C) STEiETEIE AT

(D) TaaviiEl

T & u Fon g A Ffa T R |
(A) T
(B) TRl AN
(C) Torrfrmm

(D) @A

et T & S 2
(A) eTen HifaE e
(B) wegERTER
(C) =Ry =
(D) STETFS HE

8 8 U ATE TE B
(A) Torert =S wirar
(8) TSt

(C) eHs

(D) Tiiers 5dl ¥
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159. ‘TEfirdl’ whiHT o HIR T | 164, e TR 5 Sl U ARE AR E |
(A) T el (A) SR FTEFR
(B) TRRE B) R

(C) 3TT9Tg 1 T o

(D) TeE = TeEE

160.

165. Freferfiaa # & T g=amET @ 991 56
TR 7 |
(A) g
(B) e
(C) @ FvEn
(D) T FUSE

. Ii“ llI o T AT |I1r_.,

166. TR HEE 7€ fER Sl =
ST 7
(A) 9 (B) Tehem
(®) TEEEFERA (©) WrEmar
©) wmEEgE (D) TER ffEwe

163, ‘whmEesd - u R AeE R 7 - W ; ’
(A) e TS & m}mm%
(B) e ETEAl R iy
s e (€) EefiTE=EIE
o (D) PR HT I R

Ax ' S =
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168. I 172, AFE HAAGF & wgo 1 8 7
(A) TR (A) reaTar v R
®) Ffeemd (B) daa fRamh
© : (C) BTEI I TYT AR TEEFH oAl
D) S _
L (D) T o =g oft 7
i
1 e 173. == ﬁ‘lﬁﬁﬁmwi
A
(A) T Ay i
(B) TTEEn
(B) =P
(C) e
(D) ifthe ©
(D) el

170. 390 & ush grEdt w1 am R |
174, Brmerge & veen wF frewr 2 7

(A) T
® v (A) 3=l
(C) wEPE {B) X
(D) eftomad (C) wiga™I
(D) &t wm
171, T sifufaam & aiarte i o .
TR ? 175. Fros Tande FRi TR 7
(A) &3 (A) =EH
(B) o (B) HE=ET
() maw (C) 1 Forx =en
(D) W&= M) TRt
A=x -28-

g DR re———




180.

181.

182.
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T s Faverh TR
(A) BTl AR-E HEIHH
(B) BTHT ! I H FHEAT

(C) BH = Ga [EFH S G
(D) W &I 3 g1 WBG AT -

(A) T
® ==
{€)
©) feeeh

gl &1 - a8 B w7
(A) TETHITH
(C) Wi FHie
(D) EEqwEl TETFR,

SR A ? >
(A) e fiven smm
(B) wreafis fam 3w
(D) el e S
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184.

185.

186.

187.

Ax

S T R B B, S v e
sraie | - e e

(A) otaTEn faE

(B) &S

(C) A

(D) &, FETITE o

el T 39w e R
(A) S

(B) T=h

(C) =

(D) dfre AR F

T2 o ], S AR AR @A AT R |
- 715 Topereh a8 7

(A) TS TeiEATE ST

(B) eIl

€) e . favEveen

(D) TS HETA

sy Tarernt 3 R sror h 3ehl
2l

(A) il

(B) =

(C) HER-HE
(D) HeqgH i HierT

188.

1889.

180.

181,

N

e AT IR R FE SN AT~ §
e =) e FETR 7

(A) e fEEEEE

(B) Eamdt gAre Bl

(C) Ao %

(D) WA ERTER

< ETaT] S e e fen

Tt forr T o )
(A) T B

(B) d foran iR

(C) wreafes HenaE

(D) = fEEwTe

us ey e # wsft o g =R
apfeiiad 30
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197.
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199.
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9 e - TR T R

(A) =5

(B) wEgEN
(C) =g
(D) wHuRE

et Eifem wg 2

(A) wferH
(8) =R

©) =@

FEAE |

(A) WFT
® fim
(C) e
(D) wreafar

(A) T
®) T
(©) siufyw
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|
IMPORTANT INSTRUCTIONS TO CANDIDATES

FetEEl o forg vevergot srgar |

1; ; ;‘Il'ais booklet cun“tai:s 32 pagc-:f. e 11, ?Hgﬁ-"r‘ﬁ"lﬁ:i.? TR |
12, Please check all the pages of the et
carefully. In case of any defect, piease ask 12, E@mﬁﬂ‘ﬂ?@fﬂwﬁﬁﬁwﬁ EiS
the Invigilator for replacement of the Booklet. g =N 2, A1 fAleas ﬁ@wﬁmﬁﬁ |
13. Directions '@ Each question or incomplete e . v UREE mgﬂm
statoment is followed by four alternative L mmw wﬁ ; % =
suggested answers or completions. In sach T S TR {0 W g AR | W T
case, you are required to select the one that % s et v i e R S e Ed I
correctly answers the question or completes B 39T YA S T % 3T SRt S
the statement and blacken (@) appropriate - il 2 o
circle A, B, C or D by Blue/Black Ball-Paint Pen ST TEER E A, B, Car Dl e
against the question goncerned in the FIEAT e -Tge 99 H Flell (@) FETE |
Answer-Sheet. (For V.H. candidates (EfEafaa sodfreami & fon gwa memsm
corresponding circle will be blackened '
by the scribe) ferfee gro e fa )
- Mark your answer by shading the appropriate | 14, ue s % wrwd 3Fm av 7 Rrsiss w05 ST
circle against each questien. The circle should o x o ' P
be shaded completely without leaving any spacs. H%@ lqﬁwmqﬁ sl E@% #
The correct methed of shading is given below. Femstt=n =0 %1 vl vl 19 Rarman |
[wrang Methon [wrang Metned || Wisng Mathed || Gamect Metod| | st | el | ematmn | a0
lof Yols) oY tote loY Xatal toY Yoral 080000 00|0®00/0800
The Candidate must mark his/her response AT AT I AL e e H I
after careful consideration. s s 9w |
15. There is only one correct answer to each 15. U290 SV 51 a9 & TR |
question. You should blacken (@) the circle 40 Eﬁ i
of the appropriate column, viz., A, B, C or D. Ffa Hew ¥4 A, B, C 91 D ¥ Wismen
If you blacken (@) mare than one circle Eﬁwmmmé lﬁmﬁﬁmﬁi
against any one question. the answer will be H]lﬁ:t{mﬁ 1fer e S W (-] A
treated as wrong. If you wish to cancel any ' il Giad v s R
answer, you should completely erase that black Hﬁﬂ’[ﬁ‘jﬁﬁm ST | 372 7 orel) S ot
mark in thecircle in the Ariswer-Sheetand then TEFT B 2 1 1Y I - % 39 e
biacken the circle of revised rfesponse. @ B e R gl e d e e s
. A machine will read the caded information
s T FTET
in the OMR Answer-Sheet. In case the ISR TR "
information is incompiete/different from the 16. Sit.um. o, I-uirs # o 7 52 AT &
information given in the application form, the E WETE T | 9 geen Sl @ s e
candidature of such candidate will be treated : i 3 s X8 B
as cancelled. q_'ﬂ ! 11?' Rl i LR ;
17. Use the space for rough work given in the speafite e wE s | B
E;seﬁ:raghgt;uk!at only and not on the 17. %od %14 % (g Fae 99 99 8 fee & s &
_ T | - T A w6 |
18. You are NOT required to mark your answers : _
in this Booklet. All answers must be 18. 39 UfFAeT & IFa7 WTOeRT IWL sifeea 72
indicated in the Answer-Sheet only. FEE | T Faw TR-TRET A RS |

Go through instructions given in Page No. 1 (Facing Page)

Ax a5
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